
Chapter 6 Inequalities and Absolute Value Functions  Name___________________________________ 

Show your work.   

Solve each inequality.  Graph your solution on a number line.  State your answer in interval notation. 

 

1.   4𝑛 − 5(𝑛 − 3) > 3(𝑛 + 1) − 20     2.   20 (
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𝑦
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) ≥ −2𝑦 

 

 

 

 

 

 

 

 

 

3.   36 ≤ 11 − 5𝑥 ≤ 66     4.   12 + 4𝑛 > 44   𝑜𝑟   10 − 12𝑛 > −38 

 

 

 

 

 

 

 

 

 

5.   |−4 + 5𝑥| = 16              6.   −2|7 − 3𝑦| − 6 < −14 

 

 

 

 

 

 

7.   3 + 4|3𝑥 + 7| ≥ −89         

 

 

 

 

 


